Dalkeith High School - Level 3 - HOMEWORK 4 - NO CALCULATOR

1. Show all your working for the following (remember - NO calculator) :-
(@) 27-65+3897 b) 341-9475 | () 15+8-74 +0-087
d 81-247+6-883 (e) 6+2:473-8-399 (f) 51-3-09-1986
(@ 532-968+359 (h) 5457 +6-274-12-558 (i) 30-1- 9749 - 608

2. Mrs Galbraith bought 3 steaks at the butcher's,
Their total weight was 7-85 pounds.

If the large steaks weighed 2-93 pounds and
3-34 pounds, find the weight of the smallest steak.

3. OnFeb. 29th 2004, the temperature at noon in Inverness
was ~14-6°C. On the same day, further south in Falk:r-k fhe
temperature at noon was -6-9°C,

By 4 pm that day, the temperature in Inverness had risen
by 4-7 degrees, whereas in Falkirk the temperature had
fallen by O-8 degrees.

(b) What was the difference in temperature at 4 pm
‘between Inverness and Falkirk ? -

4 COPY the following and fill in the correct numbers to replace the squares :-

@ 7-1HN G) s-H1M c) m-27m
+ 0 - M3 2 - R 2H7 3-H8 4
9-170 3:096 +6-6H°9
W2-576
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